

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

12/14/2022 09:00 AM | Depart to Vegas 12/15/2022 09:00 AM | Install Day 1 12/16/2022 09:00 AM | Install Day 2 12/17/2022 09:00 AM | Install Day 3 12/17/2022 06:00 PM | Event Date 12/17/2022 11:00 PM | Stand By 12/18/2022 09:00 AM | Soft Strike 12/19/2022 09:00 AM | Strike 12/20/2022 09:00 AM | Return to LA PO: Shipping Address: Fertitta - Las Vegas Private Home IN-0005181

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Front of House/	Entry				
	Prop House Sleigh - Custom Painted rental piece with hand painted designs; as similar to original	1	\$5,000.00	Т	\$5,000.00
	inspirational image but not 3D				
	Oversized 48"D Red Glitter Ornament	3	\$950.00	Т	\$2,850.00
		Total F	ront of House/E	ntry	\$7,850.00
In-House					
	Prague Club Chairs - Red	2	\$350.00	Т	\$700.00
	red painted frame with red velvet cushion				
	Custom Kitchen Island Facade	1	\$9,500.00	Т	\$9,500.00
	Red glitter top with multi-dimensional stripe and polka dot patterns throughout. Red glitter and LED lighting for added effect.				
	Custom Dining Table Facade	1	\$7,500.00	Т	\$7,500.00
	Red glitter top with multi-dimensional stripe and polka dot patterns throughout. Red glitter and LED lighting for added effect.				
			Total In-House		\$17,700.00
Photo Op Area					
	Perimeter Drape - Red Chiffon with Red Backing	1	\$4,000.00	Т	\$4,000.00
	approx 200'L x 14'H to drape in the photo op area				
- ite	Athens Channeled Left Arm Chaise - Off White	1	\$500.00	Т	\$500.00
	Madrid Club Chair - Off White Boucle w. Wood Trim	2	\$250.00	Т	\$500.00
	Rome Round Coffee Table - Off White	1	\$300.00	Т	\$300.00

escription		Qtty	Price		Total
	Ottoman Pod 18"D - Off White Boucle	2	\$45.00	Т	\$90.00
	Rome Accent Table 01 - Off White	1	\$125.00	Т	\$125.00
	Accent Pillows - Knot Boucle Red	2	\$30.00	Т	\$60.00
	Accent Pillow - Off White Boucle	4	\$30.00	Т	\$120.00
	Milan Wall Mirror - High Gloss Red 37"W x 75"H	1	\$250.00	Т	\$250.00
			Total Photo Op A	rea	\$5,945.00
azebo & Des	serts				
	Perimeter Drape and Pullbacks - Red Chiffon approx 300' x 12'H	1	\$7,000.00	Т	\$7,000.00
	Perimeter Valance - White Dupioni	1	\$1,500.00	Т	\$1,500.00
	Custom Round Pedestal - 56"D x 36"H mix of red and white stripes, polka dots, and solids	1	\$950.00	Т	\$950.00
	Custom Round Pedestal - 48"D x 40"H mix of red and white stripes, polka dots, and solids	2	\$950.00	Т	\$1,900.00
	Custom Round Pedestal - 40"D x 32"H mix of red and white stripes, polka dots, and solids	2	\$950.00	Т	\$1,900.00
	Custom Round Pedestal - 36"D x 36"H mix of red and white stripes, polka dots, and solids	2	\$850.00	Т	\$1,700.00
	Custom Round Pedestal - 30"D x 38"H mix of red and white stripes, polka dots, and solids	2	\$850.00	Т	\$1,700.00
	Round Pedestals 01 - 30"D x 29"H mix of red and white stripes, polka dots, and solids	1	\$550.00	Т	\$550.00
	Custom Pedestal - 24"D x 42"H mix of red and white stripes, polka dots, and solids	2	\$750.00	Т	\$1,500.00
	Custom Pedestal - 24"D x 30"H mix of red and white stripes, polka dots, and solids	2	\$750.00	Т	\$1,500.00
	Athens Channeled Right Arm Chaise - Off White	1	\$500.00	Т	\$500.00

Description		Qtty	Price		Total
	Rome Round Coffee Table - Off White	1	\$300.00	Т	\$300.00
	Madrid Club Chair - Off White Boucle w. Wood Trim	2	\$250.00	Т	\$500.00
	Ottoman Pod 18"D - Off White Boucle	2	\$45.00	Т	\$90.00
6	Accent Pillows - Knot Boucle Red	2	\$30.00	Т	\$60.00
	Accent Pillow - Off White Boucle	4	\$30.00	Т	\$120.00
		Tota	Gazebo & Desse	erts	\$21,770.00
Main Tent					
	Interior Ceiling Drape - Red Chiffon w. Red Backing for a 30' x 90' tent	1	\$9,500.00	Т	\$9,500.00
	Exterior Ceiling Cap - Red Lycra for a 30' x 90' tent	1	\$2,675.00	Т	\$2,675.00
	Interior Perimeter Drape - Red Chiffon w, Red Backing for a 30' x 90' tent	1	\$7,500.00	Т	\$7,500.00
	Exterior Perimeter Drape - FLAT White Suede for video projection/mapping	1	\$3,500.00	Т	\$3,500.00
	Stage Backdrop - Red Sequin to frame the LED wall	1	\$1,750.00	Т	\$1,750.00
	Interior Perimeter Valance - White Dupioni for a 30' x 90' tent	1	\$950.00	Т	\$950.00
	Custom Ceiling Treatment - Red Presents w. White Bow red dupioni 'wrapped' presents	300	\$20.00	Т	\$6,000.00
	Metal Grid 8'x2' - Covered in Red Pleated Chiffon to hang the presents from in the ceiling	15	\$250.00	Т	\$3,750.00
	Edison Light Bulb Drops to mix into the present ceiling treatment	140	\$25.00	Т	\$3,500.00
	Beverly Hills Bar (3pcs) 14'L - White w. White Top	2	\$1,650.00	Т	\$3,300.00
	Straight Barback 6'L - Red High Gloss	4	\$225.00	Т	\$900.00
	Custom Clear Plexi-Glass Barback Pieces 4 Exterior legs to be filled with ornaments 2 top crossbeam to be filled with ornaments	2	\$6,500.00	Т	\$13,000.00

Description		Qtty	Price		Total
	Christmas Ornaments - Red and White used to fill the coffee tables and the barbacks	1	\$16,500.00	Т	\$16,500.00
	Dance Floor - Full Decal 28' x 20' with red and white swirl decal	1	\$12,500.00	Т	\$12,500.00
	Madrid Rounded Sofa - Off White Boucle	4	\$550.00	Т	\$2,200.00
	Rome Squared Sofa - Off White Boucle	2	\$550.00	Т	\$1,100.00
	Custom Clear Plexi-Glass Coffee Table 48" x 24" x 18"H	6	\$850.00	Т	\$5,100.00
	Madrid Club Chair - Off White Boucle w. Wood	4	\$250.00	Т	\$1,000.00
B	Rome Club Chair - Off White Boucle	4	\$275.00	Т	\$1,100.00
H	Rome Accent Table 01 - Off White	6	\$125.00	Т	\$750.00
8	Beirut Ottoman - Ivory Velvet	12	\$95.00	Т	\$1,140.00
	Ottoman Pod 18"D - Off White Boucle	4	\$45.00	Т	\$180.00
joe -	Bucharest Stand Up - Red High Gloss to match carpet and drape color	6	\$150.00	Т	\$900.00
	Accent Pillows - Knot Boucle Ball White	4	\$24.00	Т	\$96.00
	Accent Pillow - Instock off white boucle and white fur	20	\$30.00	Т	\$600.00
	Accent Pillow - NEW mix of red and white boucle balls	10	\$85.00	Т	\$850.00
	Throw Blanket - Instock solid red and white fur	10	\$75.00	Т	\$750.00
	Throw Blanket - NEW Red and White Stripe	10	\$150.00	Т	\$1,500.00
			Total Main Te	ent	\$102,591.00

scription		Qtty	Price		Total
ervices					
	Installers: Travel (2) Days	10	\$650.00		\$6,500.0
	Installers: Install (3) Days	10	\$1,650.00		\$16,500.0
	Installers: Soft Strike TBD tbd to come sunday to wrap some furniture; no big trucks allowed	10	\$350.00		\$3,500.0
	Installers: Strike (1) Day on Monday unless otherwise instructed	10	\$450.00		\$4,500.0
	Installers: Stand By to remove items from inside of the house	6	\$200.00		\$1,200.00
	Installers: Perdiem (7) Days	10	\$483.00		\$4,830.0
	Helpers: Travel (2) Days	2	\$650.00		\$1,300.00
	Helpers: Install (3) Days	2	\$1,350.00		\$2,700.00
	Helpers: Perdiem (5) Days	2	\$345.00		\$690.00
	Hotel Accommodations: (6) Nights client to provide	6	\$0.00		\$0.00
	Trucking: 24'L Box Truck parked onsite at Red Rock	4	\$1,350.00	Т	\$5,400.00
	Trucking: Rental Van for stand bys and soft strike sunday	2	\$1,250.00		\$2,500.00
	Production: Pre Production & OT for prepping and building all the presents/ornaments/chandeliers	1	\$10,000.00		\$10,000.00
	Manager: Air Fare	1	\$1,100.00		\$1,100.00
	Manager: Onsite for (4) Days	1	\$3,400.00		\$3,400.00
	Manager: Rental Car	1	\$1,250.00		\$1,250.00
	Design Fee: Layouts & Production Design	1	\$1,600.00		\$1,600.00
	Design Fee: Renderings	1	\$3,750.00		\$3,750.00
	Custom Painting: Artwork painting pedestals and kitchen facades	1	\$6,000.00		\$6,000.00
	Supplies: Misc	1	\$3,600.00		\$3,600.00
	Dance Floor: Labor and Delivery	1	\$1,250.00		\$1,250.00
	Dance Floor: Trucking	1	\$850.00		\$850.00
	Certificates: Flame Proofing	1	\$950.00		\$950.00

Please make checks payable to Revelry, Inc.	Total Products:	\$155,856.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$83,370.00
Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
, ,	Discounts:	(\$0.00)
Notes	Total:	\$239,226.00
	Payments:	(\$0.00)

Balance: \$239,226.00